ISH : =J1.2. (migg-fefdmrs) gmar 3iAT ARAST <t

dug - €d7 (H3SI3HX fetdint) gfse @ 2
HiSH ¢ Jarst

us 3.

2.1 Afg-Ada fendue

2.2 AH-wHde fewdwe

2.3 "Hed »d (Index Number)

2.4 At Agel fer8HE (Time Series Analysis)

Department website : www.pbidde.org




g € 3gar I+ »dg HWH3d - uddr gdr
HT3d3Ha  fedirt

s o 2.1 BY : I IHHE JIHT HHS

Afo-Adg feRdA<
(Correlation Analysis)
uys & gu Jur
L. gHar  (Introduction)
II. us = GEH
I11. Afo-Heg ferdnas

1. Afg-Agg €7 H3I®T
2. Afg-Agg <t faadt
3. Afg-Agg HuE <@ <41

©) Joe fedt
()  dHmarfez fedt
\ (i) IIS Unigns wAfo-Hdg geta fedt
(ii) Wimans € 3 Afg-rgg g fedt
4. Afo-Adgg gIefa Ehit ezt
Iv. HI
V. HJ32YdE HIw
VI.  yA3TEs uRsd "t
VI ymat & gt
(i) 8 YHS
i) =B yTs
I. gfHar  (Introduction)
ge 3 it fEa 33 (Variable) a7 HEfUz AHfmre € »iftpds 3T I ug »iAst
feaft @9 g © & € 3 Su 337 o7z HEU=z At € ArgHeT adsr Uer J1 fer
fam @it BFt & »iasT AH3g fSg ¥ 337 (Bivariate) &8t 3t fagr #er J|
" J9 It I3 IE9 Ig<iF e 3gT I I9dt I fa Ea I3 Ko 3u<id@ v gn 33 &9
3t d I yge der J 3 'R w wag I fa gt 33 89 Hdg J1 Gegds €
33 3 M2 Ut & GHg W= u3sht &t G fe, far @nz <& Iz w3 Har K9
dz Heg J1 fem 39 © 337 @9 7 »iuAt A I GF € niftis & »iast HHR3T &9
wig-Agg fagr Aer J1 wfg-Adgg <€ »iog gz udsT € fanfimr Hg 3 ufgst eam €
ydis fefamist gdfer (Bravais) enar dISt aret Afg-Adgg 3Iaaia &€F dur 939 gdt
fenfomr Hg egfiA Irssfes (Sir Francis Galton) & Ji3tI HE 1896 @9 args Uniars

(Karl Pearson) & wHfg-Adgg &t gifefza fenmfim mig-Adg € 9@ € gu &g di3t
1



€ ' 3gar I 2 WIE-HH3d - UJgT gd'
. us e Gen

(i) Afo-HAdT g9 Aeardt

(ii)  wfor"g St gt g9 F=adt|

(iii) aI& UMigHs Afg-HET JIeia u3T dds & fedt g3 Areardt|

(iv) wUanis € Tgvr Afg-HEg I U3T Jds ©fF fedt g9 aeardti

) Afg-AEg gt €t fermzs=t g9 aeddi|
1. HAfg-Agu ferdns

(i) wAfordgg v H3ST

1. e ¢ 33 B It forr o 3adls I 39 d= 7 G fome Ko 3adls
Jd IJ I »3 fEa 33 < a<idl g 33 Ko 39l v g 58 3T <2t 33T K9
Hfg-Hdg fagr #er J|

Croxton M2 Cowden & wWg=" f&9 "When the relationship is of quantitative
nature, the appropriate statistical tool for discovering and measuring the relation-

ship and expressing it in a brief formula is known as correlation”

L.R. Conner © Hget f&g, "If two or more quantities vary in sympathy so that
movements is one tend to be accompanied by corresponding movements in the other
(s) then they are said to be correlated".

fegt Ylgmer 3 mine I fa Afg-Hdg & »ifrgr wfowdt €ar 3 fam G99 <
330 & vyt gedgt € HEg § ydre Ji=zr Ater J

2. Afo-rdgg ot faadt

g 33 @ Myt HeEg, ferr w3 faardt € wgrg 3 Afo-ddgg dt I
fogdt famt go:

®) wHag=sHa M3 fge3Ha HAfg-H=T  (Positive correlation and Negative

Correlation)

() AUdE, M M gg U3t Afg-A8g (Simple, Partial and Multiple Correlation)

(®) Ifuad M3 ss3Ifux wfgHET (Linear and non-linear correlation)
(€) waa3Ha Hfg-HI g

fm Ay e 33 B It fort == gTvoe J5 3T Aaa=sHa Afo-Adgg der J|
MIFI 7 XxI yo 33 IS M3 xMI yEST T HS gar I AT uieer I 3T Igt 33T
T AII3HI AfI-HET J=9r! yd3t =€ fswH Axa=Ha Afg-Adg & @egde JI

AIA3HF Hig-HEg & »iAl I fedt G@urgges adt & miAe g Ha<s I
X Y o X Y
3 S S0 25
6 7 40 20
9 9 30 16
12 12 20 12
15 14 10 9



gt 8 gar Jer 3 WIE-HH3d - UJgT gd'
Bug &3t gt @eraget €9 xm3 y 33 B It four Ko g gs1 fer
et fegt Tat o&3T 89 HIORIHE Hig-HET J|
fae=va wAfg-HIT
i A 22 33 Su<Ty forr 8o g 37 fae=3va Afo-HEg J=9r »igegs =
XTT HS 0T I M3 yE HS Uieer J A B € @3¢ der I 3T Tat 33 = faesHa
Afg-HAdgg J2arm Har € foud foe=Ha Afg-Hdg &€ Hd3eude Gerade I f&g Har
M3 I3 Ge forr fF9 g2 o foge=Ha Afo-AEg & »it Jat i3t Gergast ardt

X Y Hr X Y

5 2 2 50
4 4 4 45
3 7 6 35
2 9 8 20
1 12 10 10

fegt Tot g&3t &g foe=zHa Afg A" J1 fagfa x»x yo< 33 €< ferr
9 9% IJ Is|
(»f) wUaE, »ifda w3 sgdst Afo-H"Eg

AYOdE Hfg-HET

Ao AeS & 33T T offts 3T AfET I wiggz & I3T =T wiuHt HeEg Sftdr
Aer 3 3 G ¥ Auge Afo-AEg fagr Aer 31 @e¥rgde € 39 3 U3 u3st & GHa
=7 »iftpds, Har = feur Auge Afo-HEg @ waRee Is|

niifaa  Afg-H&g

7 A3 »iftis @9 © 3 fimmer 33 I ug fBa forfoz A g »iAt © 33
= dt Hdg @fie »i3 g& © 33T S B3 oFie 3t fon fedt § wifae Afo-rdg faar
Her J1 Gegde € 39 I Jdex © G3ueEs Qua ue, HiF »iz fHaet e yge der
JI Ug 7 ol Iea € G3UEs m3 fHoEl T Aag St w3 gdt 33 uw M3 i
wife € yge ¢ Afgg Idle 3t »iffdt A3t »ifra Aforgg <€ 329t

gg-dst wAfo-Fgg

T A3 wiftmis feg © 3 fmmer 33 I Wiz wirt A9 33T w7 wiurt fedsT Heg
=i 37 for AfEst § gg-dst Afordgg fagr #er 31 Qugde @ #A< wHl a=d €
B3ues Qua ue »ix fHaEl v yge fedor adte 3t fer »iftis & gg-dst Afa-Heg
fagr #er Ji
(g) JfHa w3 oodfua wAfo—+Hdg

dfta  Afg-FeEg

e © I3 xw3 y&o 3udsl Afg w9 3 It 9 3 I mAfoddg Jear
H Fd xM3 y € HS FId dide UUd 3 EaHTEe 3T Ag B Hdt dur yuz g4t
Ity Afg-Adg & »AT Jot 93T Gegge Idt AuRe I3 Hae It
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IH3 (T0) 1 2 3 4 5
yg3t (fearegn) 5 10 15 20 25
Y Y.
O" X Y X
Ifua AgaIHaE Afg-HET Ifyx fae=zHa wAfo-HdT

so-dfya  HAfg-HEg

v I3 F9 sodfba Afo-Hdg J2ar 7 a9 fEa I3 f9 Igdtal & €9 o
gd 33 < 3g<id & €9 Afag &dt J=39ft »ifdd 337 & 99 Gugd I €9F 8T &%
Hat Sur yus adt J29ftl »igg AH3g g »d 39 3 for yaa €7 Hio-Heg der
J1 Gergde © 29 I A fan fomadt <t »imHes 91t J JAidt I 3T GHET yggT gara
&dt J=ar e
HEs (J0) 2000 3000 4000 5000
yggr (30) 1400 2000 2500 2800

se-dfta Aig-Heg & w»iHt do fsg Jur fg39 enfar yedfhs 9 Age If|

So-dfya AaTI=3HE Afg Heg aso-afya fae=sHa Afo—AgT
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Afg-Agg Hus <& <41

gige  fedt o arfez fedt
(Graphic Method) (Algebraic Method)
— |
sy fdat <t fedt grafex fedt

(Scatter Diagram Method)

IS UiaHs igRs er dogde 3<teHs fedt
J&’s HAfg-Hgg =ddr IIE T (Concurrent

(Karl Pearson Coefficient Hfg-Hgg Deviation Method)
of Correlation) (Spearman's Rank

Correlation Coefficient)

Afg-Hgg Hus @ Bug &3 S|y €91 @9 »HlT a9 Unigas »ix adwigds
o ©9a7 g Afg-HEg =7 It wiftpds Iatar
3 () () a9z Umars #Afo-Adg T

Afg-HET €7 HU JJs BT »iadaqT AAsdt @8 I3 Sy Ear &9 »ireEt gu
fEg 98 Umigrs enrgr &3 I8 Hio-HET IIeie € H3d ¢ 2Ud <93 @9 fenier
Aer J1 fer H39 § BT o1 ad® UmigAs € Afg-HEg I’ H3d &% JT ggrTemT
Aer I fEH B39 enar Afg-HET JIIei) @ r &8 EgHTenT "ier 31 Uhigas Afd-

e x=X-X, y:Y—I_/

o, = x 33 ¥ ydHy fegss (S.D.)

o, =y 33 T ydHu fegss (S.D.)

N =f&3 g € Ut afs»t <t faredt 9% UnigAs Afor g 9 3T dds
¥ Qug I3 B39 € gae »Hl Js I3 A=r B39 <937 an|
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Boagdes 1 : Jo &3 »iafswt 3 9% Uniagrs Afo-Fgg 9= U™ 99

X : 48 35 17 23 47
Y : 45 20 40 25 45
IJ&
(X - 34) (Y-35)

X Y X y x? y? Xy
48 45 14 10 196 100 140
35 20 1 -15 1 225 -15
17 40 217 5 289 25 -85
23 25 11 -10 121 100 110
47 45 13 10 169 100 130
> X=170 D> Y=175 0 0 776 550 280
_ X _ Y
T2 X 10 52175

N N 5

_ D 280
ryr = =
V2 Xyt V776 4550
_ 280 = 0429
653.299

Y fedt gt wAfordg < gEsr
(Calculation of coefficient of correlation short cut method Or when deviations are
taken from an assumed mean)

A WHS YIHZ Uds Yia 89 &7 I »igg3 eddHs @9 »iiE 37 98 Uigns
= Qug <ffimm Afg-rdy B39 Afo-Hdg dec Bt vHafas I #@er J1 TR vAfas =r
J& Ids BET IBUfGT »IH3 BT A IaIfen AfESt 99 I f&ftmim g3 =gfsnm Aier
JI

de dy——z dedy
N
dx)? dy)?
\/Z e (ZNx> \/de ] (ZNy)

=




g€ 8 3gmar I 7
8 0 dx=X-Ax
dy=Y—-Ay

MJEG-HTH3d - Uddl €H’

Ax=x <= JHUfcsa »HA3
Ay=y = I&Ufsd »iHA3

SEggs 2 : I& 10 fefenmgahnt & »igiddt 3 fdet 89 »ia B3 g fegt »iat &g

IJg& UmigAs =7 Afg-HYg dIeid U3t Jd|
nigradt @9 »ia :© 10 25 13 25 22 11

12 25 21

20

faet ffg »ia 12 22 16 15 18 18 17 23 24 17
J& dx dx? dy dy?
X X-18 (X-18)2 Y (Y-18) (Y-18)2 dxdy
10 -8 64 12 -6 36 48
25 7 49 22 4 16 28
13 -5 25 16 -2 4 10
25 7 49 15 -3 9 -21
22 4 16 18 0 0 0
11 -7 49 18 0 0 0
12 -6 36 17 -1 1 6
25 7 49 23 S 25 35
21 3 9 24 6 36 18
20 2 4 —lz -1 1 -2
Ddx=4 350 2 128 122

AT x M3 yBET 18 IBUfca »iAz He 3 It

de dy — de;Zdy
, Odvy? \/ . vy’
\/de N Zdy N

4x2
10

Jis0- @ Jizg O
10 10

=

122 -

=

122 - 0.8 1212

r= = — 0575
V34841276 210845
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Segds 3 : It I »iafant I fefenraght € GHg W3 Gaf €F a3 < mex T
Afg-Agg greta U3t IJ|

va 15 16 17 18 19 20
fefenmad»t < fare3t 250 200 150 120 100 80
JIBg st 200 150 90 48 30 12

I - &g At fefenrgghit € @Hg »iz Gxf € a3 € mex3 € Afg-HEg u3T Jda"
I H »AT fefenragt € g3 € »rex g9 u3T ads e fustdhit € ySEs usr
ECIEI

fefanmagt <t farest - 250 200 150 120 100 80

EEIESSER LSS 200 150 90 48 30 12

yIH=z st - 80 75 60 40 30 15

&m yFne

ICELG x-17 y-60

(X) Y dx dy dx? dy? dxdy

15 80 -2 20 4 400 -40

16 75 -1 15 1 225 -15

17 60 0 0 0 0 0

18 40 1 -20 1 400 -20

19 30 2 -30 4 900 -60

20 15 3 -45 9 2025 -135
3 -60 19 3950 -270

}:dkcb)—-ZS‘b:;TEZdy
, O dx)? \/ , O dy)
\/2‘“ L D

=

g 3(60)
=
3’ (=60)°
19 -~ 113950 -~
6 6
~ ~ 270 + 30 - 240
T J19 - 15 /3950 - 600 +/17.5 /3350
— 240 _ 499 =g

= =
242126



g € 3gar Far 9

gegd=s 4

HSE yuz i3

N =30, » X=120, D.Y =90, » X* =600, D Y* =250, D XY = 356
UII'H Ids AX feg uzr Jar fg dfuQed 3 Ja fafimit Het Irsz 3 et

MIG-HHIG - UJgr gdr
fEa JqfuQeg & xmM3 y 3T = Afg-AEy IIeid €< AN J& ©H Afag

X Y
8 10
12 7
"o fa_mdt HWel f'g "#s
X Y
8 12
10 8
Sta Afo-Agg arsia U3t IJ|
S SEUNRS
D> X =120, D X* =600, D) ¥ =90, Y ¥* =250, D XY =356, N = 30
IIBI3 Wt HIt Wt
X Y X Y
8 10 8 12
12 7 10 8

Adt

D X=120 - (8+12) + (8+10) = 118
DY =90 - (10+7) + (12 + 8) = 93
D> X* =600 - (8)2 - (12)2 + (8)* + (10)2 = 556
D Y? =250 - (102 - (7)2, + (12)% + (8)2 = 309

D XY =356 - (8x10) - (12x7) + (8x12) + (10x8) = 368

Hfg-Hdgg i) € B39 R9 3l H® 39 &

sy ZAT
N
P

118x93
30

\/556 GL \/309 COR
30 30

=

368 —

=
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. 368 — 36538
556 — 46413 /309 — 2883

~ 22 22
J9187 V207 43.608

r =005
7 \dt Afo-Agg gt = 0.05 I
o (i) mfwals v 3 Afo-Hdgg gesia fedt

FET @9 JdF 33 »ifnd de I g = »iyr &9 Heg der 3 ug Gaf & fan
AI® Qua Hilmm =df 77 maer feg s 82 O It 3 A Je=sHa Uy
e forrsardt, ardtst w3 Heazsr »ife =7 wifts IgdaT der J1 »ifadt aszs ffg gt
33t v Afo-Fgg arg® Uviaras <t fedt ardt uzsr =sdt 3T 77 AaeT| 99&H Mseds
HUMaAs (Charles Edward Spearman) & wfnd 33t &g Afg-Hdgg U3 gas =7 3dtar
1904 f@g fazr feg fedt der € Ja 3 wofazs I
mimigis € Afo-Hdgg fedt fors yaa J1

6> D’ 6> D’
EEvaer el U Sl

N(N° =1 N - N

e Dadteg Uer € Jda = »i3gd J1 mivands Afg-Adg gefa fedt & =3

g &g Sfsmr A7 "Haer J|
(a) A< Jda &3 Jd= (when ranks are given)
(b) A< Jda & fd3 J= (when ranks are not given)
(c) A< J& ¥d™d J= (when ranks are equal)
Boagde 5 . ©H fefonrgdghy @ € fer, € »i3 » &g 39 Jo g »erag I

rk?l"fp=1

g : 6 5 3 10 2 4 9 7 8 1

"o 3 8 4 9 1 6 10 7 5 2

Ja Aforgg g Uzt 9|

J&
R, R, D D?

(R, -R)

6 3 3 9
5 8 -3 9
3 4 -1 1
10 9 1 1
2 1 1 1
4 6 -2 4
9 10 -1 1
7 7 0 0
8 5 3 9
1 2 -1 1

1
w
[@)]

2D
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6> D’ _,__ 6x36
N(N* =1 1010 -1

1, or p=

=l—ﬁ:1—0.218:0.782
990

(b) < da & id3 I= ¢

FET T 9 wifrgr der I & A g »iAs »igl It id3 d€ g1 J9 Hfo-H"Eg uzr
Fds 3 ufgst »At fegh Uef & da fde Ifl 93 @2 "X A 3T A I 3T Hitw §
8 (one) da fIzr AT I AT Ay I a8t Aftmr § Bx I &z Aer J1 I @
A oAt 28 Uet § fEa It 39 o Ja e I
QeragdE 6 : fefenmgdht enar wadg Yiftmr (x) »M3 A& yiitmrr (y) f9 »ix
IS 89 nigHT I& -

IJ& g9 1 2 3 4 5 6 7 8 9
X: 10 15 12 17 13 16 24 14 22
Y: 30 42 45 46 33 34 40 35 39

J& - Amvans € I Afg-HET I 3T Jd1 HI 3 Ufags &3t xm3 y & Uet §
Jda €@<dn "I I =g »ig § ufgs Ix 3T #R9r M3 89 gHEd 8¢ »iat § 2. 3,
4y i, wife 3 &3 dAr=dil

X Y R, R, D D2
R, R,
10 30 9 9 0 0
15 42 5 3 2 4
12 45 8 2 6 36
17 46 3 1 2 4
13 33 7 8 -1 1
16 34 4 7 -3 9
24 40 1 4 -3 9
14 35 6 6 0 0
22 39 2 5 -3 9

Il
~
\)

LD

6> D

r,oorp= 1 - N(N2 _1)

B 6 x 72 _1_6><72
9(9° -1 9% 80
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=1-06=04

(c) A9 Jdd gdEd JT ¢

fern o=z @9 ffa AHs Her & g9=g dd I3 AT &1 feg gg=g Jda Ggf Jat

= gifex »Ax It 31 A< I §9™9d I 3T mivigAs € Quad € B39 9 dF

MJEG-HTH3d - Uddl €H’

1
gt it widt Jinifircht ows ffw w9 e Y D’ %UE(W—m) 7z fazr

Aer I g 8t I T Jgg I gt ¥ I g9Ed Iga1 f'g I3 due T IS
I fa g9 f€a repeated value Bt It feg 3ar Afan #er J1 for 397 I Afo-H=ET
dreia fer yarg dfent Avaar|

6{ZD2+1(m3—m)+1(m3—m)+—---1

— 12 12 |
N (N?=1)

Gergge : »is fefanragi™ T maGaHt W3 »iazT fefamrs € »ia Jst id3 I Is|

Ja Aforgg g uzT 9|

aGIHT &g »ix 15 20 28 12 40 60 20 80
niggr fefamrs f&g »ia @ 40 30 50 30 20 10 30 60
IJ&
WG SHL =T R, R, D D?
o nig  fRme T vl (R, -R)
X y
15 40 2 6 -4 16.00
20 30 3.5 4 -0.5 0.25
28 50 5 7 -2 4.00
12 30 1 4 -3 9.00
40 20 6 2 4 16.00
60 10 7 1 6 36.00
20 30 3.5 4 -0.5 0.25
80 60 8 8 0 0
> D*=815
XSI = nig 20 © @9 MiEer I m3 GxF & I\t w3 IEt ' gt I fem
3+4

37 T=3-5 gat ©r ga™g I for aear 3§ 20 »ig € @9 »ger 9 for =t

fe8 m =2 JSgrmifen 397 ysF w »ix 30 B @9 »i@er I gt € U= gt
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3+4+5
3

S, gFt w3 Ut 3 7 fegt = w9=g I =4 J2ar w3 m =3 J2ar|

2 1 3 1 3
1_6[ZD +E(m —m)+E(m —m)]

N (N* -1)

p:

H& 3ds 3

6[81.5+1(23—2)+1(33—3)}
L 12 12

p= 2
8 (8% — 1)
6(815+05+2)
- 504

6x 84 504
p=1- =l-—
504 504

P=1-1=0

Gergde 8 : €H fefenrragt enrar € fefimi @9 yuz »iat e 3 Afg-Heg 0.5 T
gmie @9 U3 Ida I US3T Bdr fa @ I =7 »i3d II&3 5% 7 dF g7 3 & fenr
famm J1 o9 39 Afo-HdSg gresd JF dr grdier I
IS it Fee It fa
6> D
p=l-—"=
N (N -1
ff3r & N=10,p=0.5

= JgF =T %3 »isg =3
= Jat €7 3F »isg =7
6y D’
10 (10" = 1)
6y D’
05=1- Z
990

6y D?
2 =1-05=05
990

6> D* =05 x 990 = 495
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> D =% =825

g Y. D= =z Y D' - (@3 wzd)? + (Fdt »iza)?

= 82.5- (3)2 + (7)°
=82.5-9+49=122.5

gE 3T -

(vi)

6 x1225
P=""10(10* - 1)
p=l—ﬁzl—0.742:0.258

990
(Properties of coefficient of correlation)
g% Uhidrs =7 AfgFgg g d - 1 W + 1 fegarg It Jder I »ogs
-1 <r<1
Hifg-Hdgg gIeid deg & IgEidl 3 OHd & Iadidl a8 ygifes odt derl
¥ H33d I3 &9 wAfgrdu st der ug feg wgdt st fa = 33t K9 Afo-
Heg &7 d2 3T 8T #3397 I3 It I=3IN
HT : A< € 33 f8a It four @9 3gdis 9 99 9= 7 G foger &g 3gdts
J II IJ= »3 B 33 < gt v 33 99 3l v age g8 3T Iat 331
feg Afordgg fagr aer 31 Aforgg &t 35 famdt - Aaa3Ha w3 fae3Ha
Afo-Hga, AOaE, »ifda »3 gg-ust mAfo-Adg, Sfta w3 st mfo-Heg
It I Afo-HEg I U3T Ida ©F A9 2 HY 3dtar aas Uhigas enrar
&3 famr I ug ge=Ha Ugt &g Afo-Agg Aautsials < 3 fedt adt uzr i3
A A< JIAfT BT 9IS JRET - 1 W3 41 ffgara It der I
HJI3TYdE HIE
Afo-Aga
HASI3HE Afg - HEg
fae=zHa Afg - Fdg
Stua wAfg - Heg
&5 - Jfua Afg - H™g
yAzfel yAsa HIT (Suggested Books)

S.P. Gupta Statistical Methods

P.S. Grewal Numerical Methods of Statistical Analysis
S.L. Aggarwal : Quantitative Techniques

and

S.L. Bhardwaj :
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VII. yHsT € gdt

@) B8 YHS ¢
1. What is correlation?
2. Define Karl Pearson's Coefficient of correlation.
3. What is rank correlation.
4. Distinguish between positive and negative correlation.
(i) <=3 Yyms
1. Discuss the different methods of finding out correlation.
2. Find the Karl Pearson's coefficient of correlation from the following data :
X: 64 65 66 67 68 69 70
Y: 66 67 65 68 70 68 72
3. From the following data calculate the rank correlation coefficient :
X: 48 33 40 9 16 16 65 24 16 57
Y : 13 13 24 6 15 4 20 9 6 19
4. From the following data find the correlation coefficient between age and playing
habit :
Age (years) No. of Students Regular Players
15-16 200 150
16-17 270 162
17-18 340 170
18-19 360 180
19-20 400 180

20-21 200 120



g 8 3ar FHar »dg HHIJ (Uder gd)

H3g3Ha  fedis

AH-Y"THdE ferdns

us o gu Jur
L. gfHar
II. ys € GEn
I11. WH-THIE TA3AE
(i) AHMTHIE feH3HE €7 H3&"
(ii) Afg-HEg fer@As »3 AH- »iHAde ferdrs 89 »i3g

(iii) FHMTHIE JyTeT

(iv) W HIE AHlagst

v) fegss fedt

(vi) WHMTHIT JISta Dt feRmzet
IVv. wH3J
V. HJIZSYdE HeE

VI. yAzTes yAsa got
VII. yHsT € gdt

(i) 82 YHS
(ii) I3 YyHS
I. gHar

Afo-Fgg ferdrs f9 © 337 © wudt A8y g9 S fapdr 31 33T 27 niurt
HIg Jde JIde dad fEa 33 € 08 E3r 99 3T g+ 33 © HS T »igHs Barfemr
7 AEr I »iazr fefamis e oz far ardt »iHt far B fid3 s 3 e 33T =7
MEHTS BIMGE IF G & AHTHIE fer3HaE fagr #fer J1 mHdE €7 Age dHT
nigg @url, fugta S HEg AT MA3 & % Iamd 3 Jer J1 AHHATHIE Hge ©f @93
A3 3 Ufgs™ AT edifAR 9rses (Sir Francis Galton) & He 1877 €9 dfgmt & Garet
w3 G5 € w3-fuzr & Gl & 3IBsT Fge AN JdiF GHS i wiftis,
"Regression Towards Mediocity in Hereditory Stature" @5 <ffr fa &g wz3r fuzr
T U9 MH 2d I BT Jde I M3 B2 Jd€ % HI-U3T & 59 WH 39 I 22 Ja<
o dt I° Is1 UT arses 3 MUE mitmies &g fog warfonr fa &8 dw =& dSfont
o »IA=z JBgEl, B Jdu @ HI-UzT & »iAz GutEl I we It 9 e 39T 82 a7
=T dfgrt € WAz St »iyd H3-UZT € mA3 de 3 fmrer It I e 39T Irses
3 TuHt A fugia =g e € yfeast § YA @t 3ur § mHaE Iur faar Ji

16
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II. U3 ¥ GLn

(i) HAH-MTHIE 979 dEdrdt

(ii)  wfo-HEg M3 YA feR@As €9 »isg

(iii) AH-HIE JU=T g9 ATl

(iv) g Adlagdst Uzt 9 © 3difant g9 Areardt
III. HAHYHIE TER3HE

(i) FAHHIE feR3As T H3B"

mHAgE fEx »ifadt fedt 3 famr gdt 33 €9 »mudAt Ao d= 3 fan fEx
3T A3 A 3 x4 33 © H® € »igHs BIrge Ifl M.M. Blair € waer &9
"Regression analysis is a mathematical measure of the average relationship between

two or more variables in terms of the original units of data"

Ya-Lun Chou & w#Hg=f &9, "Regression analysis attempts to establish the
nature of the relationship between variables that is, to study the funcional relationship
between the variables and thereby provide a mechanism for prediction, or forecasting."
(ii)  wfo-rEg fTABAT M3 M-I ferdgHas 89 »i3g

©) wfordgg = Aude mIe €9 »9g © 3I3F = »iurAt Heg I Aefa Aq-

e fe fEa He < g8 o8 g+t e 3 0 @3 yge = vy
3T AEr J|

()  HAfo-HET fer@ne fEg € 33T € »iurt Heg € €9 3 AgU 979 »iftds

3T 7T I Ug AH-MTHIE fer@re &g »iFt B 33 Gua g+ 33 <
fsggazT €t w9 dIae It
(®) wfoHdT € 337 @ wiudt gz w3 12 @ Ay § odt Yareger wefa
AH-THIE € 33T € Ide »ix e € Adg & ydreger J|

(A) Aig-HET Jgreia degd g »3 Od & 39l 3 Haz der 3 ud AH-
HIE JIeix deg g & Ig<idt 3 Ha=z der I ug aHs & 3g<diat
2 HI=Z SJT JeTi

@) Afg-HET ¥ 338 HeEgh & yagre@er I »i3 Afo-Hgg € 33T 99 AHay

JeT T »I@I Ty, T 1y FEfd AH-vRIS fersne feéu 8 399 Hew

der 3 w3 MHMTHIE IS AHGY &dt YT waes bxyibyx
(iii) AH-rHIE Ju=t
MH-HIE ferdas g A Jur gt »irt fsgofda 237 €7 (independent
variables) 3 ygrfe3 337 (dependent variables) i »H3T € HIg & HUHS Jd< If
8H & mmHde Jur faar #AEr I J.R. Stockton »&HE, "The device used for
estimating the value of one variable from the value of the other consists of a line

through the points drawn in such a manner as to represent the average relationship
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between the two variables such a line is called the line of regression".

7 Fd wH xWI y & 337 € wiftis Ide 3T A UH € AHOATHIE Juret
JEaitl B y &€ AHHIEe T x Qud 3 gdl x & mHmEgeE 9uT y Gudl A
Yf3amis Jur y, x Gug Jaaft 3t yygfexs 33 I 3 xfsgufaa 33 J1 feg v x<
B3 J8 H& I y & HAgfexl H® <Hat fer 3Igh A AHdE 9T x, y Qud Jaaft
3T xygfezs 33 I 3 ylogufaa 33 J1 fer 397 ye fe3l I8 bt 3 x© HIfezs H&
yuz dI3 A7 AIE I&1 AR AN x 3 yEar 33T €9 ude Hfg HEg (r=+11) 99
gr 3t 9 Juet fEa I wdit wigaz fEx Jt Iur g&9ftl AH-rHgE Juret st
g g € 33 J=diht Qg It ©@at 33T x w3 y e Afo-HdEg famrer d2am fem 3
Bxe fHamit feg Juret gg Jeafmt Ggt It Sat 337 f9 Afo-rHeg Wwie I=ar & r =0
3T TS I3 e JTIT M3 S AH-HMTHIE duet B gd & 90° € I= I de=afit
gz feg U@ ox M3 oy € AHGZI J=dinitl

feg 9t fimrasdar I fa €< Juer B gt § »IH3 U8 3 deedhd’ J&1 miggs
fr fig 3 feg Ju=t f£a g & Jdedh gs1 Or g 3 x-axis 3 g fufge 3t 7S
x € ¥WHZ U8 yuz J=49ff 7 F9 y - axis 3 By fufgg 37 y Az & »iHz yuz
g4t

feg feg I9t® A s Jue war J fa mnAde Jue fs@a3H 2gar & oz
(Method or least squares) € Ha3T Gugd Mufdz g fom 3 3= feg I fa Hef 2
YAz € »i3g ¥ 9T € A3 we I e Jder JI
(iv) " H-»Aade wAHtagst

»iH Gug »iftwis dizT I fa © g Juet g1 for =t © It AHwTHIE
mHagst Jaaint »ags -

y & x Gus mH»RIE AHieas

Y=a+bX (@)

x & y Qud AH»HIES AHtads

X =a+bY (i1)

fEgt O=t AHlaget €9 x M3 y3I3 I& an=z b AGI Is|

y=a+ bxEg xfogufga 33 I »= yygfez 33 J1 fer mtlages €9 a,y
THE J A x=0»3gI a,ye G S I 8 AH»HIE 4T y-axis § Je=l J|
Hags €9 AfGg »igd b AHM™HIE JUT € ®SE (slope) I A 2 I I fa x
fsgufaa 33 ffo fFa feaet 3adts de o yazfes 33 y o fdat 3g<tlt I<t I
o7 moragT flaas @9 »iHT © Afig a3 b e % U3 Ida" J1 © Afad 1S
U3T FI5 BET AS & AHlaget € Adgazs J1 fE@a3H =gdr © €91 Idt € IoHs
mHaget Jo fodt gxasaiit
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YV =Na+h¥ X (i)
S XY =aXY + bY Y2 (if)
fer 3gt 7 I3 At x Quad y &t AHvRdE IHfiadde X =g + bY U3t IIat Ji
3t T SIHS AHladeT Js fodt Jaafn
Y X =Na+b3 Y (i)
S XY =aXY + bY Y2 (if)

Buag &3t saHs mfidast @9 x M3 y & S9<d H& 39 d MHAT a3 ber
H& Uz3T 99 HAI< Il
Boagde 1 : Jo &3 »iafmwt 3 € A wHde AdtadaT U3t ad|

>

: 1 2 3 4 S 6 7 8 9

Y: 9 8 10 12 11 13 14 16 15

J&
X Y XY X2 Y2
1 9 9 1 81
2 8 16 4 64
3 10 30 9 100
4 12 48 16 144
) 11 55 25 121
6 13 78 36 169
7 14 98 49 196
8 16 128 64 256
9 15 135 81 225
45 108 597 285 1356
y & x Qugd mrmge mHfiags
sz a+b X
AfEg H& an3 bE U3T Ids BEr Js fedht © mHlaast § I IIfdn
>Y=Na+bY X @)

S XY =aX X + Y X% (i)

108 = 9a + 45b (@)
597 = 45a + 285 b (ii)
Hiags (i) & 5 &% <97 yH JIIe 996 3

& 3ds 3
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540 = 45a + 225b (i)
597 =45a +285b (i)
mHagE (i) »= (i) & I8 Jgs 3
57
60
ber Aflads (i) 9 H I35 3
108 = 9a + 45 (0.95)
108 = 9a + 42.75

9a=108-42.75=65.25
65.25
a =

60b = 57 H b =095

=725

fem 3gt m-vHde Mg y = x Gud
Ye =725+ 095x
MEHTEl AT AH-HTHIE AHlgas x & y Qud

Xc=a+bY

o =t 95 it © sonvs mftagst J& Jgtarl
S X =Na+hXY (i)

S XY =aXY + bY Y2 (if)

H& 3ds 3

45=9a +108b (i)

597 = 108a + 1356b  (if)

mHiags (i) & 12 3% JET I35 3

540 = 108a + 1296 b (iii)

597 =108a + 1356 b (ii)

mHagE (i) »=3 (i) & I8 Jgs 3
57

= i b="-=095
60b = 57 U 60

ber aHtags (i) €9 ¥ Ias 2
597=108a + 1356(0.95) Gy
108a = 597 — 12882 = — 691.2

6912
108

—-64
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" Xc =—-64+ 095Y
(v) feoss fedt (Deviation Methods)
H-THIE AHddET A x M3 y & Jifez »iA3t 3 fg8s &8 7 (Regression
equations when deviations are taken from the arithmetic means of x and y)
AH-vHdE AHflags y € x Qug fsau=s
e 27 33T x I yu Jifexz viAz 3 Tess 88 7Y I35 3T AH-MTHIS AHlads
y e xQud fsans Js fsg yarg J=ar|
Y—?:byx (X - X)
ﬁ%byx,y@x@_uam{—mmméfgnéwﬁv@ﬁﬁmég
x f&g 3gdtst e o ygfez 33 y fo fHat 3g<tsdt »reet J) beETEWSﬁS'r
o3t fedt adt uzr dizr 7 "Ager JI

b XXy x=X-X
wos 2 My

%y

X
T I3 xmI yHer & Ifez WAz eRHse €9 we 3T GF AN AmHoMTHIS ISt
o H& I@ufea A3 EF Hee 3% U3T Jd AIe JF »iR

g r,ox, oy € H& u3T d 3T byx=r

s e ay - (40) (Zdy)
byx: N2 dx =X — Ax
dez_% dy=Y— Ay
N

7Y xn3 y< Jfex »iAz 3 e85 BT Ad I 3T YfzaHs AHilaaes xe7 y
Sug fsaHe I foU nigag J=ar|

X-X=by(Y-Y)

b _ XXy x=X-X
ﬁaﬁbxy,x@yéuaq%mmmﬁmé xy Zyz mﬁyzy_f/
T 9 Afordg g r,x W3y iy feess 90 9 yuzr 9= 3

ox

b =r—
Xy oy

T g xnI yHe! € Iifez »iAzs eaHse If9 me 3T 8 AN M-S 9T
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bw@ﬁgmﬁﬂﬂﬂgémwwmﬂa@ﬁl

sax dy - (24 C)

b = Nz dx =X — Ax
yx g

Ax = x & I&Ufsa »iA3
Ay = y & asufsa »iA3

(VI) AH-»HaE = bxyb-@ byxE"Th-I"r feRA3=" (Properties of regression
co-efficients bxy and byx)

®) wWrEIE IIEF (bxymé byx) I MMAST &% Afg-HET JIeia U3T 3T AT Ade!

I 3 &g g bxy »i3 byx € II@=3HI »IH3 € §d™d Jer I »dgs r = +,/bxy.byx

ox
bxy =r — n3 byx =r 2
oy 4 ox
o
.'.bxy.byxzro-x.r Y —p?
o, o,

Sr=1,/bxy .byx
H Id AH-MTHIE IS ATAG3HS I& 3T Afo-HET Iieia ATTadSHA Jdadim W=
Add AH-MTHIE 9 fde=sHa ds 3T Afo-dgy g & faes=sya d2ar
() Had 8 AH»HIE Jieia fegrdt 3 fimer 3 3T gar g feaet 3 wie
JSIT MIg3 BT diIed ©F diIaes fod 3 =0 &df J Ader| faEfa <@gt A+
YHIE JIEdT €7 €ddIHS HIT-HET Ji&d € ¥d™d de' I Ud Hfg-HEg deid
g fearet 3 ufe 7 feaet ® g9=g der JI
(®) TJT AH-MTHIE JIeia @ fds fEx It d=ar »iags Af €@ Aarg=sHa dadr A
o< fae=sva Jd=dr
(A) AH-MTHIE Jieid Jded iy & 3adidt 3 vme d€ 96 ug OHsT 3udist 3
IgASE I 7Y IS
@) AH-THIE JdIeia € JIfef3d »iAs G@5F & Afo-rdg #f I »iAzs 3 fimrer
a<t T
byx + bxy
2
gergdz 2 : Jat I3 Ut »ix uzahit &t g = »iafent 3 © mnmaas aHftaast
U3t I 3 U3t & 61T T wigHs &ITE H UusSat € 8ud 16 HS I -
uzt &t 6va: 36 23 27 28 28 29 30 31 33 35
uzst = 649 - 29 18 20 22 27 21 29 27 29 28

>r
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IJ& - it He &2 o fa udt <t 6vg @ x

"3 U3t & 6Ha 1y

MJEG-HTH3d - Uddl €H’

X Y (X-X) (Y-1) 2 2 Xy
36 29 6 +4 36 16 24
23 18 -7 -7 49 49 49
27 20 -3 -5 9 25 15
28 22 -2 -3 4 9 6
28 27 -2 2 4 4 -4
29 21 -1 -4 1 16 4
30 29 0 4 0 16 0
31 27 1 2 1 4 2
33 29 3 4 9 16 12
35 28 5 3 25 9 15
300 250 0 0 138 164 123
— YX 300
x =22 _""_3 -
YRR N =10
7=220_1s
1
p o= 29 123 e
W g2 138
X 1230

wooy,2 164
AH-MTHIE 9T y & x Qug
Y- y=bux (X—x)

Y-25 =089 (X -30)
Y-25=089 X-26.70
Y=089 X -1.7

AH-MTHIE 99T x o yBug
X-X=b (-1

X =30 =075 (Y-25)
X -30=075Y-1875
X=075Y 1125
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T uzst & GHg (Y) = 16T 3T x T HS »igg3 U3t &t GHg
X=075(16) + 1125
=12+1125=2325
v ust € Qug 23 A Jadft)
Gugds 3 : Iz I3 »iafanit 3 &5 MiHIs AHladst uzr Jd|
X =60,>Y =40 > XY =1150

Y X2 = 4160, Y2 = 1720, N = 10

XY

b= N

IS AHO T HdE deia WX ZXz—(Zmz
N

2XY -

150 . 6040
b o= 10 1150 — 240
g 4160 — (60~ 4160 — 360
_ 910 _ o4
3800

s xy - ZXZY 150 _ 60x40
b N2 _ 102
Xy

sy2 DT 1720 - (407

N

1150 — 240 910
1720 — 160 _1560_0'58

— YX 60 _ = Yy 40

X=£2_2_gy=2-""_4
3 N 10 N 10

MH-HIE AHlade y & x Qud
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Y —Y=byx (X-X)
Y—4 =024 (X-6)
Y-4=024 X —144
Y=024 X + 256

AH-MTHIE 99T x o yBug

X - X=bxy (Y-Y)
X—6=058 (Y—4)
X=6=058 Y-232
X=058 Y +3.68

Sugdes 4 : Js I3 Agat &g 8 fanm@dmt & GHa (x) »i3 BT € ys & =gmf
(Y) & »lagz &3 a1
X: 52 63 45 36 72 65 47 25
Y: 62 53 S1 25 79 43 60 33

Y <t x 8ug morHde Aftade U3t 99 w3 J a9 far fewadt €t GHa 49
A& J 3 G € ys € €F € WoHS BArG|

9]

d&
(x-50) (y-50)
X Y dx dx? dy dx dy
52 62 2 4 12 24
63 53 13 169 3 39
45 51 -5 25 1 -5
36 25 -14 196 -25 350
72 79 22 484 29 638
65 43 15 225 -7 -105
47 60 -3 9 10 -30
25 33 -25 625 -17 425
405 406 5 1737 6 1336
= X 405
X=z—=—=50.625
N 8
= Y 406
Y = LY =—=150.75
N 8

XMI y& Jfexz »iA3 oaHse f9 Isl| %ng?mwmazmbyx@%
FoUfed A3 € 3Idd 575 U3T FJiar!
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5x6
Y dxdy — 2dx x3.dy 1336 —
b = N2 — 82
yx
dez_m 1737 — )~
N 8
1336 - 375
1737 — 3125
_ 133225 _ 0768
1433875

y & x @ugd AH-wTHIE PHftagE
Y-Y= byx (X —x)

Y-50.75 = 0.768 (X —50.625)
Y=50.75+0.768 X —38.88
Y=1187 + 0.768X

7 I3 forast & 61T (x) =49 T 3T nigHfszx ys =7 wgml
Y =1187 +0.768(49)
Y=1187+37.632=49.502
Gegde 5 : 3% UfsArst & GaEt (x) »i=2 9 (Y) g3 »iax &3 I Is|
X =68,Y =150, 00 =25,0y =20, r =06 3 () fea ufemis <t ot =r
WMEH'S BIre 7 €7/ = 39 Y =200 J2I
(ii) r ufsmis w7 g9 €7 fAaadt 89t 60 &g I=I
I8 : Ufast »iFt ufsmis € 9l (x) € »ioH™s Sarger J dad Brer 39 y = 200
I 3T it Ufast x € y Gud mHTHIE AHiads Uzt J3ar|

X - X = bxy (Y -y)

boo=r % 2062 20075
Xy oy 20

X —68 = 0.075 (Y —150)

X =68+0075Y 1125

X =5675+0.075Y

Had Y =200

x,=56.75+0.075(200)
=56.75+15= 71.75
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(ii) g AT ufemis e 39 U3t adar i & 89t 60 €9 I W3 AHwTHIE
mags y et x Qua fosars Fafar

Y-Y=b,(X-X)

b =Y 062043
’ oXx 25

Y—150=48(X —68)

Y=150+48 X -3264=48X-1764

7 X=60 J2 3f
Y. =48(60)-1764=288-1764=111.6
Qergdz ¢ : fEa »iffha gu @9 sHe It yuamsr 3 I&T €7 &3 yuz I JIs|
X e SIMWA =9
FH »HIE Juer 8X—-10Y+66=0 »=3 40X -18Y=214
fegt »iafsnit € »gg 2
@i) x M3 y & Ife3a »Az uzT Jd|
(i)  y=r ufoHyu fegss uzr Jd|
(iii) x»=x y=r AfgH"Eg gI=x d<L|
J& . WG 3T T
x a7 2dMH :o‘i:9
Hr ox=3
8X—-10Y+66=0
40X —-18Y=214 .
il A ot f3 e © Mg Juet deeht g 88 xm y € aifefza
A3 yuz Jdet I
8X—-10Y+66=0
A 8X—-10Y+66=0 (i)
40X -18Y=214  (ii)
HagE (i) »2 (i) & I8 Id& BEl, AHlads (1) & 5 &% T Idd AHATS
i) g weG= =3
40X —-18Y=214
40X -50Y=-330
-+ +
32Y =544

544 _
32

T Y= 17
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YT H® Adlags (i) €9 395 =

8X—-10(17)=-66

8X=170-66=104

_104_
8

fer Bt x»3 y &t gifefza »A3 =g 133 17 J<=aft
(ii) Afg-FET I U3T 9d6 T €5 AH-OMTHIE dIS g U3t dda d<ar fagfa

r=1% /b, xb,,

&g nit feg &dt Aee fa Yot mAde Juet 89 x&F yGuad »iz y =t x
Sua fagdt I »rt Hs e of fa mflages (i) y <t x Guad mvHIs Jur JI

8X —10Y=-66
—-10Y=-66—-8X
GU -10Y=66+8X
Y=66+08X
g3 byx=08 JI
g »rt AHlaae (i) & x & y Qud AH»mRdE Iur He 3 gt
40X -18Y=214
wt 40X =214+18Y
x4 18
40 40
=535+045Y

by, + 045

r=t/b, b,

=1/08x0.45 = 0.6
" r=0.6 JI

(iii) yer ufouu fegss o, =3
bxy=045

X 13

o X
ug bxy=r—m1
oy

045= 0.6i

o,
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0')=£=4

7045
IV HTT

TH-mHgE B »ifndt fedt 9 fam adt 337 fég »muft "Wegg 9= 3 fan &=
3 E 83 08 2 gd 33 © HBT T »gHS BIrfen™ 77 AIET J1 AH-MTHIS AIS
IHT nigg @udl, fugfag @ HEg A7 »IA3 H® €% S 3 JdeF J1 AH-THIS HIe
o €93 A3 I Ufgs Ag<=dHA Irses & He 1877 &g dHfoni & Gt W3 Gaf
= H3—fizT €t @9t & 3®eT Ige A JiEt AH-vTRde ferdue f@g far Sur ot
A fogufaa 33T 3 yafexs 33T &€t »IH3T & Heg & AUHAE Jae 97 ©F § mH-ovHIE
Jur fagr AT I M3 feg & Juy=et B edff & ¥z HS I Jdedt I&|
\Y HJ3ITYdeE HIT

@i) FH-MTHIE

(ii) HH-ATHIE JuT

(iii) rAgE AHlags

(iv) wHIE IS

VI yAsfex yA3d HIT Suggested Books)

S.P. Gupta Statistical Methods
P.S. Grewal : Numerical Methods of Statistical Analysis
S.L. Aggarwal : Quantitative Techniques

and S.L. Bhardwaj
Vil yrst & gt

i) =2 yis
1. Explain the term regression.
2. Distinguish between correlation and regression.
3. Discuss the properties of regression coefficient.
ii) <=3 YHs
1. Why are there, in general, two regression lines? Under what condi-

tions can there be only one regression line?

2. Find two regression equations for the following data.
X: 23 43 53 63 73 83
Y: S 6 7 8 9 10
3. Find the most likely price in Bombay corresponding to the price of Rs.
70 at calcutta from the following data
Calcutta Bombay
Average Price 65 67
S.D. 2.5 3

Correlation coefficient (r) = 0.8
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HZI3HT  fedmt

s & 2.3 BUL . I IHH IHd HHS
HO9S »id
(Index Number)
s & gu aur
I gfHar
II Us v Gen
111 oY nix

1
2
3. HII it & &I
4 HOd »id fsaHre dwt fedin
©) I9 Ifgz mea »ix
(i) HI& HAYfga fedt
(ii) ~FAI® AUy wiHz fedt
() wfez gex Wi
@) BHUIMIE fedt
(i)  yHAow fedt
(iii) fewg fedt
IV. H'I
V. HJIZSYdE HeE
VI. YA uAsd Hot
VL.  yHsT € mdt

@) 82 YAS
(i) <3 yrs
I gHar

»iaxT HH3T €9 Hod »ar € @93 A"y 3 ufgst feedt @ niagr fefamrat
HinraIa&Et (G.R. Carli) & i3t 87 3 Ha 1500 3 & F 1750 3 W3t &g wret
3gdigl € yge § HuE BEr Hed »ah & @93 JiEt @ AR 3 mHga »igt =@
g3d dH3T € Uugd € »iftris 39 It HH3 Ht ugd g wex »iah €t Bargdr ad fa
gzg g TI=x AF 7= Sar udst I QusasT @gzwe &g 3Igdidl, adigst »is
Seufgre Ueeg ffg Igdladl, gHedt viies g Ig<lal »ife = wiftmis Aga »ia
< 939 fEg »r@er I »Am &9 gga »ig § fan &t »iafaa fagnm € vy = uizg
(Barometer) faagr #Arer J1 HuAS 3 Ied™ »aAE, "Index number are today one of
the most widely used statistical devices. They are used to feel the pulse of the economy

30




# & gar I 31 wigg-fefamis - uger e
and they have come to be used as indicators of inflationary or dellationary tendencies."
II. U3 ¥ GLn

@i) HIE ¥iat g9 AEaat

(ii) HI] »id € fogHe dEit adfimre g9 Aareardt

(iii) HEI »ia fsaHE Igs It fedht g9 Arearat

(iv) 991 gga »igd B JHSST
III. HId »id
1. HIS Wd &7 H3SH

HIS »d »iazT AH3d & ffq »ifadt gger 3 fam € It AH, AEs A 39
J9 Idat aad g I3 AT 33T € AYT K9 AUfdx Igedt €T vy Ide Il Croxton

m3 Cowden WM&HTG, '"Index numbers are devices for measuring differences in the

magnitude of a group of related variables".

M.R. Spiegel € "&H™G, " An index number is a statistical measure designed
to show changes in a variable or a group of related variables with respect to time,
geographic location or other charateristics such as income, profession etc.".

2. Had »iga @ fogue <t Adfimret

(Problems in the construction of Index Numbers)

HI »ig € fsaHE Iae AN g9g3 AdMT AHfmrer g AraHeT adst der JI
o HId »a € fsaue i €91 s Jiz3T " 3 g ggz wegwtea fHo d€ as
adt 3t gz 33 fHe foase goIfme @ Igares »iz 835 € »EHT "An index

numbers properly designed for the purpose in hand is a most useful and powerful

tool, if not properly compiled and constructed it can be dangerous one".

HIE viad v fosare &9 »fEs =8t mifimret I feadhit as|
(€) wua »ia w' GTH (The purpose of the Index)

HIA »iF =7 fsaHe ads 3 ufast ged »ia © GeF 979 AurAe fanrfimr JasT
Agdl I faGfa A gaa »iat = Gen f€x It ad der »i=z & It Arg Gert & ya=i
et fEx ged »ig f3nmg 37 A7 "Axer I fer 39T fiat €9 »iHt gea »iq € fsau=
T GTF HUAC &df dav Gat €9 wHT feg s adt a9 Aawe fa faazdt faggdhit
Her & 9= JI=St 7, »igg A faasr fenm 7= »i3 Hex »ixd © feaue =&t fan
¥A3 < @93 3 A2 @ugde @ 39 I A< »wiHl far aHe @ &3 @ dfae Afgs
T Ugg 939 »gHs SIrger gde If 3 Ag &g AuHe IdaT u=ar f& mH= w fam
2ddr ¥ Hat = Jfo=x Afgs g9 Tr= I
(»f) wug AR & 9 election of a base period)

HIE »ig € fsaHE »igg AR & vy du I JI3T A#fer I »iarg AHT wifdar
wa@@ﬁmwwm@mwémaﬂﬁwﬁﬁlmﬂﬁwm
g IHAET 100 Ha fonm AfeT 1 mgrg AN & 9 ade AN Jdo f&dhit Ifst = fimrs
Juzr gidter I
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(i) wUg AHT AOGdE JdeT dIdiEr I (Base period should be a normal
one):

mog AN & 9 Jade AX f'g s Juer gdier I & »igrg AWt Aade
AHT Jer gdter I fagfa »ift gt Arg Afimi € gex »iat € 3BT fen »ag 7S
¥ H9d »id &% Jde Jf &8 Auee AN I e J fa fer A €96 =3, I3,
B, HEldS A IS nife & o83 &dT It gdtet agt @dt wifrgr der I fa
HOdE AS dF 9, v Jd Ud 3 AUdE Jd<, HA® d<t J1 I Ager J fa fagozr
SE 3 A 4 AS & Az § mug He fenm AJEr J
(i) wmug AHt fugig ¥ ¥g3 ¥d &dT Jder gdfler Base period should
not be too distant in the past)

mog AA € 9 Ide AR feg fims Juer wdter 3 fa miug AHT g3a®
&g ggz fimrer g9 adt der gdier f’Gfa & »marg AHt 9= g9 J29r 3T »iHl 9%
HIY »igt & g HEd »id 38 IBST JIdd Bdew fHfen™ 3 &dt ude Hae|
Gugde € 39 3 7 Al A& 1992 € IHI HIF »id & IS 1951 € HIR nid S
Fdte 3t Gfex =Iifmt 3 =dt udfemT & AaeT
(iii) wfEg »mag At IFT WMag  [Fixed base or chain base)

g A € 9 I9e AR fER 918 = &t fager Iaer der 3 fa mea »ia
= oord "Hfeg I A IF »iard | "fag marg 189, mrarg AHT, AR & gt ATd "t
© BT ISt At I g Afgg Ifder I gd uH I=T »atg ged »ix fi€g @ dsHe
JdHIT & BH I ufg® X A AT It I3 ot I3t g JizT wier JI
(g) +et &t faredt € 9= Selection of number of items) :

Her &€ 9= w3 Het & forest gea »id € G@en GQuad fsggg gt JI1HgR
»ig € fsaHE Iae AH feg Agdt &dt der fa g9 B He & mgga »ia &g fonr
72 GEgde € 39 3 # uIgS &9 IH g faa=sht € Ifaesnfags e gea »ia
fanrg agsT I 3T Geuvfod 839 9 I a9 IJ faadt g3 »iaz feds JIds =
Agd=3 &dT J1 e »id = fsaHe Iae Ax feg & s Juer gdier J fa = Hef
& 9= St 7@ Qg At »igdt € mnvre, wrest, diFt faewm wr yf3fsuze Iget
J&| War fHnrdiags @@t Her & It 9 Idat gdiet I1 Haga »igat = fsaHs aae
g fors dftmm w2 fa Het &t faredt 8fgz 9= < Her < faredt g9 agt
forfaz fou adt J1 ug st Het & faredt fmrmer 23t GgF It gga »ia fmmar
g J2Ir ugd HIF »ig & fesanue &g AHf m3 B9 fmrer J2aft fem @ =<
" Het & foreSt ue J29ft 3T gea »ia st yIifsuzr sdt ag=dri
(m) 3t & I  (Price Selection)

Het € 9= Ids Quds, @3yt & I3 g9 foge adsr wgdt I #Afer J|
feg »my AaTEt I f& @R It st B 8t 3 et g, B gae 3 el g
&g Sy det ga1ag 89 gf F SH3T 979 U3T JdaT wEIe Jdar J1 &g A
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fa3r Aer I fa YISy sant »i3 Ags’ € 35S BT A€ M3 89 JdMH3T g9 u3T JI3T
A2 8 dH3T AT ygs W3 € 9 mox »ig € @YF I fsdzgg Iaet I Hag
Qu3alt € Hies H39 g9 HEd »id g agsr I 3T ga I3t & J€t Agd=3 &dT
gt

() »A=x & Y= (Choice of average)

HIx »ix fEx fenn fard €t »i=z d€ I51 gex »iat =" feaue gae A feg
fsger agar der I fq Irfex »iA=z, Hiitmiar, gferasa A aiefda »iAz &9 fagast »mA=z
€ €93 ISt Al Hitwar w3 gftrasa & Hex »id € feade Ids AR a2 & 233
=dT i3t At fen =t gifes »iAz 7@ grefaga »iAx Iat &g B & 9= Igaat d<t
JI HEI viat € fsaHe Jds SEr giefax »iAx @fezs »A=x 3 falfa (i) mgxa »ia
g aae AR »iHT HEfU=z Igdiav @ nious & 2ue I »3 giefax »iAz a9 &
HI3 IgEtEt € »wiguz § gdwg v g9 fdet I (i) 9ifes »irz & gt 3 gaefaa
»HZ Qud fimmar A Ue H® @@t Het =7 Wie yge der J (ii) gAefad »iAz €F
293 &S HII »iF T »Ug IS II&T WHG der I Ud HIRX »iat = fsaHE
FIE AN MH 33 I Jifexs »Az < @g3 ot St 7t I faGfa afes »Az <t =33
TAefax ¥Rz € @93 & »AE JIfHE fimmer miAe3T & Agd3s d° 88 giefda
Az < ot €Iz JiFt At I
(&) €fgz g & Y= Eelection of appropriate weights)

SHLd HET § 979 €& HJ3TYUTS M3 HHIGS dH J1 HIX »id & feade g
g HIE 3 I Hel @ IHSBHA Hd3< 3 der J faGfa gda W= = Ha3< gd=d
adt der fer Bt 81 »ifngr 3dtar Bg= & Aga3 I TR a7 Hel € Hd3e €7 »ithis
3T AT "I »HT vy 39 3 © 3JT © HIA »iah €7 fsaue aae It - 39 Ifg3 HEF
orl g3 @9 o<ty Her § g9 &3 Afer J|
(u) €Qfgz fedl S= Gelection of appropriate formula)

HIF »idT € {SaHE JIa BE g3 AT fedbt yg&3 I 1A der Jet
I fa famg fedt &t =gz A3 721 Iz feudt nifadht g5 7 A9 3T 95 Ug Idatat
=1, vefa Iz fedht It g6 ug Iigsed Jaifeeaay gu &g Haa »ia < fedt
= 9= god »ig € fsoe 2 G9n Qua It foaga adt Ia<t, HIT »iafsmit & Qusasr
3 <t foggg aadt J1 4 feafdar ferma & €fez mgux »ia fedt € W Bt Adt Ylegss
fsdtde  (Time Reversal Test) »3 AUS Yled3s fsdlde (Factor Reversal test) 83
Is| ferg »igAag mHEd »igt & oSt fedt feg €< IAe yd Idaft Gg Gfez fedt
I fer g 3§ feng &€ guxa »ia fsoue fedt Az 3 Gfgz fedt I
3. HOd »at & BF (Uses of Index Numbers)

i Jd% I »id »iasT AH3d ©F Ag 3 U 93T A @™l 3Is I AT
JasT & fifedft €@ o9 fEa 39 &g < Qg wafax J=, gz = 839 Jd2 #f fea
feferia 839 J2, god »ix & =233 Ji3t At I gad »ial @ I9 HI3TUds B3I
Js f&a Ta|
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(€8) €fez wrafga =iFt €7 fsgi'= Helpful in framing suitable economic
policies)

fam 2@r &t nrafaa »iz eufad a3t Aga »id Qua »arfax It Is|
HIX »ial & AITEsT &% O €9 9% Iadit  UF A& udset @ AF e @
I YISt € MEgHS BAT AIE JTl AIAd MUE IgHgaMT & Hidaret 33 &t
Ty fauzs €< AX dige Afge € Uugd € Had »a & Agfest Bt J|
(»f) wIx »ig »ErRecidt @9 HAaTE3™ dd€ IS [ndex numbers are useful
in deflating)

I »igt € ATE3T &% niAl miHes @9 dH3T € 3g<ial = »iAg e Aae
It »IE3 HiGg IH3T I IHSST BTHES € WGHS &I AHIE Jfl HIF »igh & €93
I AT HeEdr & ydle "I3T € MoHs &I Aae I

1
Hegr <t gdie "a3t = s Hox i

() 3SRugst g wAatea C—Ielpful in forecasting)

AT HE »iat & AgelT o8 IRuget a9 A’e Ifl HId »idt &€ HgfesT
&% 2udt A G@3utea 3@y € HaT € nigHs I A I | fer Heg @9 § wiHera
migrs & fsfumm 31 "Many government and private agencies are engaged in com-

putation of the index number for the purpose of forecasting business and economic
condition providing general information etc.".
4. Hod wid fsaHe ads &t fedsi -

HId »id fsaHe it fedit § & gar fég Sfsnm Ater J|
(€) 39 Ifg=x Hoa »a&@ (nweighted index numbers)

979 Ifg3 HIA »ix =7 fsaHE I96 AH Ig B He § fea fagr g9 a3 Afer
JI 9 Ifg=x HEF »ig f3nrg Igs &t Jo fodht fednit g

6) AI®% HAHfga fedt (Simple aggregative method)

(ii) "I HUY »iA3 feut (Simple average of relatives method)
(m) 3sfa3 Hed " (Weighted aggregative method)

fer fedt g @rznt & HI33™ »igAg BT § Su<dy Ig B3 Ale Is1 Ifa3
HI »igh g fsoue St € fedhi-grfaz Adfaa fedt »i=3 gfaz Aoy »iez fedt grdt
3T 7 AFET I ugd wHT fer us &g Ifaz mufaga fedt € Js feg 3 3difamm =
It »iftpAs T

(i) SHUHMIT fedt (Laspeyre's Method)

(ii)  umgw fedt (Paasche's Method)

(iii) femg fedt (Fisher's Method)
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4. (©) g9 dfgz gga »ia

(i) wIs Adfga fedt

feg gga »iq fsaus I9s & Az 3 A9 fedt I fer fedt @9 gea € fsaH=
JI feg @a3Hs A® €t dH3T © A8 § MU S €t dH3T € 18 5% €3
100 &% dI&T Id Tz Aer J|

2R

3 Fea wix (Pm):z—PXlOO
0

g ZRzmweﬁwﬁsﬂw@ETﬁs

Y. P = wug mw It dfist v as
Se€gde 1 : HI® Adfga fedt Idt I <EH »iafget = gex »id uzr JJ|

ey 1988 Tt JAH3T (IU0) 1992 Tt SH3T ()
A 20 60
B 15 25
C 18 22
D 27 38
E 12 50

I : &g 1988 TwT H3T »wiarg 3T T& W3 1992 vt HHIT TI3IHS AT Tt
AH3T TEITUTT HTE 1988 T AHIT & P W3 1992 TI3HG HIE vt st §
P o7& EgHTENT wdT|

A 20 60
B 15 25
C 18 22
D 27 38
E 12 50

> B =92 > B =195

% x 100 = 2119

F, :ZPIxIOOz
01 ZE)
P, = 2119
®) (i) AI® AUY wiAz fedt
fern fedt ordt poa »igd = fsoHe Igs BEr gg fEa He & @I=Hs Wz
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& »ud AE & dH3 &% 99T € X 100 &7, IIET 3T wier I fen 39T yuzs I8
3t & Het &€ AUy 3 (Price relative) faar #mer 31 wag=

A iz (P)=§><100

0

AUy FH3T (P) €7 U3T 936 HAIG HYA ¥Wat € fsaHe © €9 &% Iifef3a
YAz € @93 7 9’39 ¥Rz € @93 Fgd JI3T "Er JI

A< JIfef3x »IHz (Arithmetic Mean) € @33 i3t At 3 37 Hox »ida yuz
Ids BET IJo g @39 € yuar i3t AJier J

P i
POI:ZT Ieth P_E)XIOO
M3 Nrer & faedt I
A< dIe’3d »A3 (Geometric Mean) € =233 dISt Aidt I 3T goa »id yus
IIs BET I fou A3g < @g3 A3t A JI

) ZLog P
POI = Anti IOg T

Seggds 2 : Jfefs3x »A=z & @93 9 AI® AUY fedt gt 2003 =t 2002 it
JdHIT & g He ¥ HIR »ig =7 fsaHeE ad|

ELEY A B C D E
2002 €t FH3T (I0) 50 40 80 110 20
2003 €t st (90) 70 60 90 120 20
I8 : AI® AUy fedt 9dt mea »ig v fsanue qas Bet g 2 ufgst »it Ady iz
A
= u3T P:FX 100 pzg gt uzr =
0
A3 2002 €At 2003 €t AUY dAH3
FH3t (JU) St (90)
it
(R) (R) p 100
A 50 70 140.0
B 40 60 150.0
C 80 90 112.5
D 110 120 109.1
E 20 20 100.0

D> P=6116
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feg fedt ¥s 1871 @9 TmUmwaa enrar I3t It fom fedt f9 »maag ars <t
H33T € gdEd 99 I3 Aie I&IBHUNEH enidr &3t gaa »ig fedt fer yaa Ji

sz—zplq“xloo
zpo%
(ii) ymAgw fedt
HIHS € Yig=zT HHId uRed & fer fedt € 293 A3 3 ufast He 1874 f9 i3t
fer fedt @9 Ta3Hs A& &bt HiZar § 979 © 39 3 93w der 3 ° f&r yaag Ji

szzpl q, % 100
zpo%
(iii) fewmg <t fedt
g: fegfear fera & Hga »ia w' fesaHie aaded AN MU 'S M3 SISIHS HS
ToT AT HT39T = yuar Ji3T I feHd € e »id, STHUMGH M3 UHYSH © HId
»igt €T gIEi3d A3 Jdor JI

B, =L x P »3g3
Pm:\/Zpl b 2P 9 o0
2P do 2P 4

Gegdz 3 : Iz feu »iaft 3 SHUWTE, UHId 3 femd € B39 Idt Hoa »ix
u3T IJ|

e HS 2002 HSS 2003
Iz H3IT Iz H33T
A 2 8 4 6
B S 10 6 5
C 4 14 S 10
D 2 19 2 13
Js S 2002 it HIT W2 HI3TT mag AT ST SH3T W3 W3 IS wis

HS 2003 T JdH3T W HSIT O3S ATS @t SHIT Wz HT=33T IS5 |
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=H3 P 90 )4 4, P 4 Py 4 Po 4, P 4,
A 2 8 4 6 32 16 12 24
B S 10 6 5 60 50 25 30
C 4 14 5 10 70 56 40 50
D 2 19 2 13 38 38 26 26
200 160 103 130
200
S EE et 1%1:-2255—23 x 100 = = x 100 = 125
zpo 9 160
_ ZP1 q,

yrdw fedt P()l_zpq
o 91

Zpl q, y Zpl 9 % 100

Zpo 9

. By =
for fe szoql

200 130
= 290 139 0o
Por =760 " 103

= ,/1.25 x 1.256 x 100

= 126.6

x 100 = 130 x 100 = 12621
103

Segdes : 4 Jo feu »iafeut 3 Gfex fedt ot I3 Hox »ia famm=z 9|
»ag HS TIIHS 'S
TH3 CIEEMRIEI] I& Hagr EILEMRIEI] 9% ydgr
fearet () fearel ()
A 2 40 S 75
B 4 16 8 40
C 1 10 2 24
D 5 25 10 60
I8 : ferm yAs @9 A »ud AS M3 TI3HS H'S @t JIH3T w3 I uggr fasr
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<HZ Po Po 4 P P14, 40 q, P14 Po 4,
A 2 40 S 75 20 15 100 30
B 4 16 8 40 4 S 32 20
C 1 10 2 24 10 12 20 12
D S 25 10 60 S 6 50 30
91 199 202 92
P, = zpl 9 « zpl 9, % 100
zpo q, zpo a9,
202 199
= [— x — x 100
91 92
= 21912 x 100 =219.12
5. gdl H9d "I HBEl dHSST :  [ests of adequacy of index number)

Sug »Ht e’ »ix fsaie Ids € FET BIr €F Jo| ud fegt Su<y He
"I fsaE das et fedht feg faa3t fedt fmrer Gfez J1 fer & ugy = fodius
Ids BE § ferad & Ha gu e & IRSSHT THIT T |
®) wdt yleagzs aHedt (Time reversal test)
()  Hus Jleg3s IHESt (Factor reversal test)
(€) mdt leazs Rt

g: feng enrar €Ht arEt HT Yie3ds ISt »igHd Hed g fedt »iEarg €&
3 fUgfa @8 €2 U IH Jaat gdidt I . fewa € wger &9 : "The formula for
calculating an index number should be such that it gives the same ratio between
one point of comparison and the other, no matter which of the two is taken as the

base".

fer ISt »igHg AT it 93 I8 € A € »i’afant 3 »iug ges 3 fea
fedt o7& ged »iad g=G@e g 3t feg Hoa »ia f£a a0 € €8¢ Jv gs nigg3 fegf
= g & & gg=gg It I wiggs

Por X Pyo =1

g8 p, 3 I I fa A "0"E wug F A TISHG A "1" T HIS nid 1

M3 p, I IE I @ AE "1"E wUd HE & F TIBHG HGE 0" T HIS M|

H Py X Py =1 e J1 37 gux »ia fedt it Ylegss arsdt 3 ydt @3a+t
JUT H p,, X p, #1 3T I »ixd AHT Yiedss At 3 uar odt 839w feg arEdt
FHUNMGH M3 UHIH HIxX »ix fedt grdt udt odt it #=iet
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FHIMTH HIX M
p _zpl 90 p _zpo q,

“Spa " Dpa
_zpl%xzpo%il

Por X Pio =

o * ZPOQO Zpl%

H SHUHGH HYE »id@ H3d AHT Yled3s aHSST 3 ydr &dt €33
yHId HId »a fedt

_ Zpl q, _ Zpo 9o
PR p - &t

- zpo q, 0 zpl 9
_Zpl% XZPOQO;tl

Por X Pro =

o . zpo% ZP1QO

UHIH HII »id B39 & AHT Yled3s et 3 udr &dt 83dwTi
yg ferng meaa »ig fedt Aadt Yleazss aredt 3 ydt @33« JI

_Xpd 2P
ZPOQO Zpoql
AHT Yled3s da9s 3
P _\/Zpo‘h ZPOQO
0 = X
Zpl% ZP1QO

P, xP, = Zpl 90 y Zpl q, szo q, y Zpo 9
Zpo 9 Zpo q, Zpl q, Zpl 9o

B

POl

=J1=1
() Aus Yied3s TR -

&g d91 gga »ia & A9 I9c B G feng endr s Yiedss IHSST =
fsaHe Jizr famr I R »igAg 7 € It »igg 3 @I=3Hs AHT & J JHI HIS
I MI H3IT HEF YT € fsaures dizr A2 3T @3 gt gex »iat € e HS He
»igd € gdgd Jel I niggz fegt Ia HYR »id € IS »AS HS »igu'3 © g9dEd

J=ar|
g: fewma € wger f&9, "Just as each formula should permit the inter change of
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the two times without giving inconsistent results, so it ought to permit interchang-
ing the prices and quantities without giving inconsistent result, i.e., the two results
multiplied together should give the true value ratio.

_ Zpl q,

By % Oy =
™ag3 01 01
E,po 9

s Yledss anecdt § fHae fera = wox »ia 39 It udr Iger J|

o |ZPid 2P
" ZPOQO ZPOQ1

0, - z%poxz%pl
" zqopo ZQOpl

P x0, = Loid 2Pd 24P 24P
Zpo 99 Zpo q, zqo Po zqo P

(Era) _ 2P
Srea)  2poa

A ferg € god »iq B33 AHT Yled3s IHSST w3 HUs YiRd3s IRZS 3 Udr
G3ger J fer ads fend € Hed »id H3Jd § »edH HId »id H3d fagr #@fer J|
Gugde 5 : I ©H »iafawt & 93 Ige JT fifg a9 fa femg = »iegm HeA
I AHT fiedzs M3 AUs Yied3s IrSST I udr @3der JI

Mg HS TIIHE H'S

A3 FH HT3aT FHI HT3gT
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
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I

<sH3 Po 4o P q, Po 4 Py 4, P14 P 9
A 6 50 10 56 300 336 500 560
B 2 100 2 120 200 240 200 240
C 4 60 6 60 240 240 360 360
D 10 30 12 24 300 240 360 288

1040 1056 1420 1448

fera = »iredH HYx ¥

F \/ZPI - Zpl o x 100

Srde Dpd
1420 1448
1040 1056
=/18722 x 100
P, =13683x100 = 13683
HT leag3s IrRSt
p = IR Z P 4, 1420 1448
01 = _ X —
Y e ds D P4 1040~ 1056

\/Zpo @ Y. P 4o 1056 1040
10

dYpa Zpl 4 1448 " 1420

P p \/1420 1448 1056 1040
oI 1040 1056 1448 1420

1=1
A fera = »medd gex »ix oz mHt Jledss ar<dt § udr dder JI
HUs Yled3s IrRSSt

P _\/Zl’l 90 ZA g 1420 1448
01

> Dy 4, Z Po 4, 1040 1056
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C>ap Yap 1056 1448
O = X = [—— X ——
Yavpe D4 P 1040~ 1420
1420 1448 1056 1448
1040~ 1056 1040 1420

P(nXsz\/

_ (1448 qaas _ X pia
(1040)° 1040 > by 9

ferg =" »egn Hed »iad HUs yled3s aHeet § € udr Iger J|
IV. H'g
gzt HTH3T 9 Hgx »iat € 293 Ag 3 ufas feedt € »igzr fefamiast Hinra.
ISt & HF GF  Hs 1500 3 & F 1750 3IF AHIT S et 3gEiS €@ yge
& Huz BET Hoa »iar & =93 JiSt gex »id »iagst AHsd € B wifadt agsr
J far € It AR HE'G AT JF Jd I9aT Jdd B I3 A 33T @ Ada K9 AUt
IFEHE € HYU Fae Ifl HEF »idt € feaqe &g IEt Adfimal g7 AgHET JdsT
Our J fagr fa - gux »ig € G@Yn, »ug AR € d<, He' < farest & 9=, a3t
€ 9=, »A=x & 9, Gfgxz g9 & g9 w3 Gfgz fedlt < 9= »ifel goa »ia © 337
 Jd< I& MIE= I7d Ifd3 HIF »ix »3 I1d3 Hed »d| fend & gad »id & »iedn
fagr #er 31 fa@fa feg At Yled3s »i3 ATs Yiedss gracdt 3 udr €33er J|
V. HJI3|ude HEE (Key Words)
HIA nix
g H&S
TIIHS H'S
AEg »iarg
RIS}
g9
HT Jlea3s Ir=et
HUs Yled3ss ISt
VI. ymp3fez uA3d Hdt Suggested Books)
S.P. Gupta Statistical Method
P.S. Grewal : Numerical Methods of Statistical Analysis
S.L. Aggarwal : Quantitative Techniques
and
S.L. Bhardwaj
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VII. yHs™ &t mdt

H B yEs

1. What are index numbers?

2. What are the uses of index numbers?

3. Why Fisher's Index is called ideal?

(i) <=3 yHAs

1. Discuss briefly the problems faced in the construction of an index

number of prices.
2. From the following data construct a price index number applying
Laspeyres, Paasche's and Fisher Ideal Index method.

Commodity Base Year Current Year
Price per Expenditure Price per Expenditure
Unit (Rs.) Unit (Rs.)
A 2 40 5 75
B 4 16 8 40
C 1 10 2 24
D S 25 10 60
3. Calculate the Fisher's ideal index from the following data and prove
that it satisfies both the time reversal and factor reversal test.
Commodity 2002 2003
Price Qty. Price Qty.
A 8 10 10 12
B 10 12 12 8
C S 8 5 10
D 4 14 3 20
E 20 S 25 6
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(W3a3Ha  feuini)
ys s9d 2.4 Bfyar 3. feust duzr

AT Adet fewdwe

(Time Series Analysis)

gu Jur (Structure)

2.4.0
2.4.1
2.4.2

243

2.44
2.4.5
2.4.6
240

gfHar

uys e §9n

Mt Aaet @ fIn

2.4.2.1 fegarast za@
2.4.2.2 dadl 3a<ts@t
2.4.2.3 "t 3adtESt
2.4.2.4 nfad3d It
3@t ¥ WY 998 © €dr
2.43.1 IE3s WAz feut
2.43.2 fs@&30 <gar fedt
H'dH

I{FI'S

U3IS Wdl YA3dT

ghar

AHT ATgel ferd@ne v g © AN &9 gg3 dt vd3e 31 muf Aget e fersus &f

feg yuar qger 31 wuge Huel &9 AHT A9l (Time Series) 3 9@ Jd "An arrangement
of data according to time is called time series." @€/gde = €3uws, W3, waz-feguz
o wiafani e wifimts 399 AN wigAd di3T w@ 3T feg AWT AgEt qasdlti

Gegdes 1
S 1980 1981 1982 1983
g3ues - 15 14 12 13

Gegas 2:
S 1990 1991 1992 1993
dazr - 20 2 25 24
(@: feu)

ytgmret

LS

1984
16

1994
23

1985 1986
15 14
1995

21

Y. ddgAes M3 TP35 (Croxton and Cowden) € wHEwi &g, "A time series
consists of data arranged choronologically."

Ya-Lue-Chou € ®aet &9, "A time series refers to collection of readings belonging
to different time periods, of some economic variable or composite of variables."

45
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feR 3q7 4. W w9, AUlaIS mgHd -

"A time series is a set of observations taken at specified times, usually at equal

intervals." Mathematically, a time series is defined by the values y y, ....... of a variable y
attimet, t . Thus y is function of t, symbolically y = f (t)."

12 Ly eeeenes

AHT Aget far @ 99 (Variable) € behaviour ¥1 AN Bet wAdt 31 mog-AH3dl
g3 AN € wiafamt € warg 3 3f€y 973 I3t € @0 € ©d, mael € ed < €9, IHedl
WHEs @ @8 df ©d, foem H937 m3 feadt wife e woHs I AYE I&| AMT AdST
fen8ne wEt 93 Agdt diE

(i) AHT Argel f€e va fed It fed &® A¥uz der vdier Jd1 (All the values in

a time series must relate to the same phenomenon)

(i) faA <t 99 € wal B§ AT BE Yuz I wdle Is|

(iii) ¥9 & MBI WP HS' &9 gagag ¥ »i3d der gdier Ji
241 Us T 3w

Hirsh € ®gel &9, "The main object of analysing time series is to understand,
interpret and evaluate changes in economic phenomenon in the hope of more correctly
anticipating the course of future events."

fem us © Wy @OF AT A9t T H3BE, R fIR W3 3IQ@ (Trend) 3 HuE <
WHBAT MBIl ¥dIl 79 Weddl yuz Jda" I
2.42 AWt Ao @ IR
AHT Agel @ forsfefuz 99 fIR Is
fegaradl 3a@ (Secular Trend)
dadl 3"gEl@mt (Cyclical Fluctuations)
"t 3g<t@i (Seasonal Fluctuations)
nfsd3d Igdt@nit (Irregular Fluctuations)

> W=

Components of Time Series

Long period Changes  Short term Changes Irregular or random
l Changes

Secular trend

Seasonal Cyclical
Changes Changes
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2.42.1 fegagsl IaQ@ (Secular Trend)

HIY 'Secular' 3 < 88 AH I Jdvr d 3 HIY 'Trend 3 ™Mdg Id™ JI 'Secular
trend' ¥ g J fa fea g A &9 fan 31 < i3s3 Tarsg Igdtadint wiGer gt
T T, 3qsidl 39etdl, Ul fsane, gedst Aust € fumrer 233, 93, 3e6 wife A AR
feg d= <@t IEEtEmt @ Wy I96 T8I ZIQ (Trend) € 3T € J HAT IS

(1) Upward Trend

(ii) Downward Trend

Joi fg39 9df €& @ feyrd o gs

(i) Upward Trend
(i) Downward Trend

fif3g9 1 HHT 39 2 AT

2,422 Yddl 3uEl8Mt (Cyclical Variations)

Jdadt 3getdmi 3 e feqd A g € AN 3 Su AR I 3gEisit § yare dasT Jder
31 2udd dad WH 39 3 @3Im-g3mr et It & wan@e gs1 fegt et & 9@ gmart
&g <famr e J

(i) YHI'S (Prosperity)

(ii) €33dm w AMt (Decline)

(iii) WS (Depression)

(iv) 9™ ¥ HMT (Recovery)
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Prosperity

7 Recovery

Decline

Depression

fu
Lincoln L. Chao ® wget f&9,, "Cyclical variations are characterised by up and
down movements, which are different from the seasonal fluctuations in the sense that
the former extend over longer periods of time-usually two or more years. The time gap
between two successive peaks is called as cyclical period.
2.4.2.3 WMl 3udi@t  (Seasonal Variations)
Qurgd fauiet feg de @@t Wit Iaeisint g5 w1 12 Hdlfenmt @ AR feg euaet
g5 Al 3udtBt & ygrfes ads @8 Wy @ 33 T -
(i) At 3a<t8t w3 (ii) SHs, dI3t faew »3 we3’ Q@ugde € 39 3 g
few =gg, 89, U4 wfe & Har Su #Aet 3 w3 waet @ v feu fegh <
Har we wiet 31 grfgar, desl, Sa3t nife f3@a9 3 Hfemmemt & War <u
et Ji
2.4.2.4 wlsd3d 3BT (Irregular Variations)
398, "Hiudt 31 fegi & wifsd3d 3uets8t fagr #er 31 feg geigini B0 AR I
Igdighm gEh g
2.4.3 3EEIBl @ HU dd6 € TdT (Methods of Measurement of Trend)
AHT Adel fendne €t 3udidimi § Jds fed € &8 WU Hae df -
(i) gge fedl (Graphic Method)
(ii) mdu WH3 fedl (Method of Semi-Averages)
(iii) I3s WAz € fedt (Method of Moving Averages)
(iv) f6@a3W =gar fedl (Method of Least Square)
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fen us &g wHl (iii) M3 (iv) fedt e femad ygea wiftmls Iaidn
2.43.1 W3s WA3 fedl (Method of Moving Average)

IS WH3 993 WHS M3 9g3 femmua yuar d= @ Idtar 31 few fedt e a9
st © WAz 8 3 noEl @9 ufgst As &3 E3r wier & w3 gHdT A 8 fenr wer 3
w3 WH3 YUz 9d BEt Aet I fen yfqur & ¥adT @ 99 T & »H3 IHE Jd BEl wiEt
Jd1 I9 feqd IFHE A3 § I® #izd® € Hu g 3 ugs a4 fegt figmi § W3 Q@
Secular Trend yuz ad| fen fedt €t 293 qds I ufos feg wgdt der I fa a=Zhis Az

o AHT dt 3 naa3 dt 37l 999 3 WS, 4 WS, 5 A'S, 7 A A § AE JI
(i) Odd Period

He 8 mit wast femd@me o Wef @ W& a, b, c, d, e.......... de 3t 3 W <
IS a3 fen yara J23qft
a+b+c b+c+d c+d+e d+e+f
3 b 3 b 3 b 3 ................
feR 3q7 Uar Ast € adtis wiez fen yarg J2att

a+b+c+d+e b+c+d+e+f c+d+e+f+g

b b

5 5 5

@_E"El‘cl’é 3:

Js fed wigfami 3 35 AT aEs #WH3 Y3 Id|

LIy : 1970 1971 1972 1973 1974 1975 1976 1977 1978 1979 1980

A% (Sale): 4 8 9 7 11 15 11 13 18 16 20
GR:E

'S HS (Sale) S mer #Az f¥s e s

(3 Year Moving Total) WH3 (3yr's M. Av)
(Trend)

1970 4

1971 8 21 7

1972 9 24 8

1973 7 27 9

1974 11 33 11

1975 15 37 12.33

1976 11 39 13

1977 13 42 14

1978 18 47 15.67

1979 16 54 18

1980 20
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Trend H® U3™ dds 3 g€ WHE! wa3d w3 W=EHS WA3 & di9e I Eantfenr
Aer 31 It 39 4 &9 a3hs winz &9 3a<isimt Sdhmt a7 Aadt as|

s~
ar y B\(ﬁw(;\:t\f_r
L
20—
18—
16—

14—

1) —

AT ..
g '//:\//@ Original Data
—

61 o

4—
2

l I | l ! I i l l I
1970 71 72 73 74 75 76 77 78 79 80

oS
ICECER
@urggs 4
Js feg wiafami 3 96 wer aEHe #H3 YUz Jd|
s 1 2 3 4 5 6 7 8 9
3uws: 4 5 5 6 7 8 9 8 10
(. <o)
I8
ey @3ues 3 & w3z f¥s mer a3thvs
WHI3
1 4 - .
2 5 14 4.67
3 5 16 5.33
4 6 18 6.00
5 7 21 7.00
6 8 24 8.00
7 9 25 8.33
8 8 27 9.00
9 10 - -
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fg39 5 &g adtus »irz o 3adiadh Sdtm 7 Aadh as|

£ pdo
Tiee

)
w o
i ek

939 s

dd'g Bud X-axis 3 A& M3 Y-axis 3 @3uws wanfemr J|
fAA3 AMT (Even Period)

Ad dEHs WAz & fAA3 AW (Even Period) d@ i€ 99 WS, 8 'S #@f ws W&
3t I3 WAz 83 AN &9 o @ € et @ o fig 3 et widt 3 @ et fedl gt
s WAz & Jefa3z g fenr wier 3 fam arde Qg Wfga »iafant &8 AE ur #AEl 3

He & it wasl femdnes &9 iWef v W& a,b,c, d, e
I3 wA3 fen yarg J<ait

a+b+c+d b+c+d+e c+d+e+f

4 b 4 b 4 .......................
a+b+c+d b+c+d+e c+d+e+f
He B@ 4 = Ay, 4 =y, 4 =A;

g AR €9 I¥Hs wAZ & J5 wanue €ar &8 defdz dizr wier Ji
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A +A, A,+A; Aj+A,

2 2 2

ufgst Jefdz e I AE oidl, g Jefdz HE 98 A wid w3 fen 33 gdl
aefaz Ws fsd wed

Q@egge s
Js fed wigfamt 3 4 g aEHs WH3 YUz ad
& 1998 1999 2000 2001 2002 2003 2004 2005 2006 2007

3uws - 464 515 518 467 502 540 557 571 586 612

GR:E
173 uws 9I-H'S 4-yearly 4-yearly
GIE{NINEES moving average moving average
average centred
1998 464 - - -
1999 515 - - -
1964
2000 518 491.0 -
2002 495.75
2001 467 500.5
2027 503.63
2002 502 506.75
2066 511.63
2003 540 516.50
2170 529.50
2004 557 542.50
2254 553.00
2005 571 563.50
2326 572.50
2006 586 581.50
2007 612 - - -
geggs 6
Js fe3 »iafami I ¥ Aar w3 Ua e Idis #H3 U3 Jd|
H'S : 1980 1981 1982 1983 1984 1985 1986 1987 1988
g 1 2 4 7 1 16 2 29 37
H'S : 1989 1990

HY : 46 56
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ds

LI LK) HS 3-yearly 3-yearly 5-yearly S-yearly
moving moving moving moving
total average total average

1980 1 - - - -

1981 2 7 2.33 - -

1982 4 13 4.33 25

1983 7 22 7.33 40 8

1984 11 34 11.33 60 12

1985 16 49 16.33 85 17

1986 22 67 22.33 115 23

1987 29 88 29.33 150 30

1988 37 112 37.33 190 38

1989 46 139 46.33 - -

1990 56 - - - -

ISHs WAz € e
1. feg fedt fs@s3n =aur feut € 3IBs fumrer wAS T
2. fen fedt feg 7 9 J9 Wel A7z 83w ae 37 drest feo fammer eda &df
dear|
) A€ wiagT I3t famrer Fdt I 3T a3s WAz fedt feegraa fedt 3
4. ferm fedt 9df Trend Value fammer WUHEIT &8 yuz |37 @7 Hder J1
a3t »A3 @ wae
1. feo fedt wd wat € =¥ #inz feg 3u<lst v vy sdt aaeti
2. fen fedl adt nifsd3d 3u<idin’ & Uyds 39 3 u3W &I dI3T @7 Haw
3. i & @foz 9= a3 dEl nuAe <ur &dt 3T famm
16.3.2 f5@a3 =gar fedl (Method of Least Squares)
fo@a3n =gar fedt wHi Aget fen@ne @ wiafawi € Trend WUz e HI I yufs3
gar J1 fea eotrln aife3l fefomist B39 (Legender) & few fedt = gae diz3mi
H& BQ Y = a+bx f&d Linear AHlads 3 fi@ am3 b mfam3 Constants I& fagh =r
H8 Y3 dd6 BEl ¥ SaHE AHIdde" (Normal Equations) & J& ddaT U4
¥ S9HS HHlader

YY=Na+DYX cieeiriiiiiiiinnne. (i)

ny:aZx+be2 ................. (ii)
fm@ n =ma € farest
Sy=y Hef @ g T #A3I
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Yx=x Hel € U® = #d3I

yx2=x Wl @ Tdar ¥ #3|

Yxy=x M3 yWer € qer e 43

@3 wiafamt I T x, Yxy, X x? yuz wdtadet (i) w3 (i) €9 331 fegst § I8 qdd
am3 bd WZ yuzs dd|

feg W& mifade Y = a+bx €9 3393 B3Ter HI® Iur IIQ@ (Linear Trend) Yu3 dd|
feg fedt J& e wa3T ydhmi d= 3 a1 It Ji

1. Y(y-y.)=0,y€ »A% W& W3 y € dEsT 13 We y T fewssr v w3 fieg
der gdgter Ji
2. Y(y-y.) fe€sz3w 3

fem 3¢7 few fedt 9t yuz &3t Jur ¢ Line of Best Fit fagr wier Ji
&<

fs@a3n @aar fedt &t <93 qae mA feg Aume der wdter 3 fa fagzr A® Jed
fdg femr famr 31

Q@urgae 7
fs@a3H =gar fedt &8 Trend Line & fsane ad|
H'S& : 2000 2001 2002 2003 2004 2005 2006 2007
HE (Sale) : 80 % 92 83 9% 99 92 9%
wigfanii § di9e I dt €aR@ W3 Trend line feu@i

Dr:)
'S Sales Deviations Deviations XY X2 Y,

Y from 2003.5 Multiplied
by 2 X

2000 80 -3.5 -7 -560 49 83.0
2001 90 -2.5 -5 -450 25 85.5
2002 92 -1.5 -3 -276 9 88.0
2003 83 -.5 -1 -83 1 90.5
2004 94 +.5 +1 +94 1 93.0
2005 99 +1.5 +3 +297 9 95.5
2006 92 +2.5 +5 +460 25 98.0
2007 94 +3.5 +7 +728 49 100.5

N=8 Yy=734 Yxy=210 Yx*=168 Xy, =734
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de Y =a+tbx

Y 734

210
Tx=0, a=S=m=0LTs, b= 21055

yx2 168
LY =91.75+1.25X
Y,000=91.75+1.25(-7) =91.75 - 8.75 = 83
Trend Values U3T dd& &€l b € WS Tdle' 43 wmdg3 1.25x2 = 2.5 w3 fugd W&
feg wHt ad|
Y =83+2.5=85.5

2001

110
105—
100 —
95 __|
Sales
90 _|
85 |
80 |
2000 2001 2002 2003 2004 2005 2006 2007
H'S Years
939 6
Qua U39 6 €9 Trend fs@a3n <gar fedt gral feufewr famur I
Q@ergds s
fos@a31 <gar fedt g7dt Trend Line ©' fsane ad|
fes 1 2 3 4 5 6 7

feadt : 20 30 40 20 50 60 80
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nigg-fefamrs: uge—gnr
I
fes feadt Xy X2 Trend Values Deviations of items
X Y Y. =7.14+8.93X from trend values
(Y-YC)
(1) (2) (3) (4) (5) (6)
1 20 20 1 16.07 3.93
2 30 60 4 25.00 5.00
3 40 120 9 33.93 6.07
4 20 80 16 42.86 -22.86
5 50 250 25 51.79 -1.79
6 60 360 36 60.72 -0.72
7 80 560 49 69.65 10.35
Total 28 300 1450 140 N=7 0.00
n=a+bX
STOHS HAMlader
Y Y=Na+bEX covoveveerereerenn (i)
ny:aZx+bZX2 ...................... (ii)
2300=7a+28b i, (i)
1450 =282+ 140D cveevevereereene.. (i)

miads () 3 4 8 AT 996 3
28 a+ 112 b= 1200
28a + 140 b = 1450

— 28b = 250
250

b= _893
T

- bE H® milade (i) few 395 3
50
7a+ 28 (8.29) =300 -.a =7=7.14

Jd& a=7.14mM3 b=8.93
nY = 7.14 + 8.93 X (Trend Line)
Computation of Trend Values

W X=1,y =7.14+8.93 (1) = 16.07
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WY X =2,y =7.14 +8.93 (2) = 25.00
W& X =3,y =7.14+8.93 (3) = 33.93
W X=4,y =7.14+8.93 (4) = 42.86
W& X=5,y =7.14+8.93 (5 = 51.79
W& X=6,y =7.14 + 8.93 (6) = 60.72
W X =7,y =7.14+8.93 (7) = 69.65

f6@a3n <gar fedt @ e

1. f6@a3n @aur fedt &8 gg fea AN & 3Bt B (Trend Value) famrz dizr

A7 Haer JI

2. fen fedt feg fonma@stioz yse adt den

3. Trend Line d Hafezr &8 3fdy It ifer @ s uzr &3 a7 Aae J&|
faQ@a3H <gur fedt € #are

1. feg fedt famrer dis®eg Ji

2. feg fedt Sodaea &dat Ji
2.4.4 HdH

fem us g it aut Aget 3 ot 3@ 3 M3 At AgEt © wiBar mBar fdfim g9
weadt fo3dt 31 3u<Et8t (Trend) @ HY 995 € HY © €dr »da3 didtHs »A3 fedt w3
fs@a3n @gar fedt w3 <t Qergdger & wofesr && Ifir famr 3

2.4.5 UHSG
8¢ YHS
1. AHT Agdt ferdne 3 dt e 3 9
2. AHT A9l € fag3 faa3 IR 981 <95 aAd|
3. dadl 3gdtsi 3 &t g Ji
4. IEHs WAz €a1 & I M3 wige g'd |
5. f6@s3 egar fedl (Method of Least Square) 3 df 3=e J1
33 yHs
1 Jds &3 wiafami 3 4 A IE3HE WH3 YUz dd:
S ©1989 1990 1991 1992 1993 1994 1995 1996 1997 1998
3ues 75 8 98 90 95 108 124 140 150 160
(in tonner)

2. AT Araet fer@ras 3 ot 3= 3 ¢ fend fag3l fao3l IR J6 2 =d=s adl
3. Js &3 niafami 3 f5@s3H <gar fedt graf Trend Values 3 Trend Line U3T
a3 |

HE : 1977 1978 1979 1980 1981 1982 1983

3ues: 70 75 9 91 95 98 100
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4.

Js &3 wiafamit I 5 AT Moving Average fedt aaf Trend d€1
Year 1951 1952 1953 1954 1955 1956 1957 1958 1959 1960

No. of Students 342 327 367 402 412 415 420 437 415 448
Js &3 »iafamt 3 f6@s3H <gar fedt adf Trend Value €HI

HS 1982 1983 1984 1985 1986 1987 1988 1989
No. of Sheep 56 55 51 47 42 38 35 32
(Lakhs)
2.4.6 U35 Udl YASET
1. Gupta S.P : Statistical Methods
2. Elhance D.N. : Fundamentals of Statistics
Type Setting :

Department of Distance Education, Punjabi University, Patiala.




